Multiplication par Puissances de Dix (B)

Trouvez chaque produit.

77 X 1000 = 70 X 10 =
47 x 1000 = 94 x 10 =
84 x 1000 = 41 X 10 =
82 x 100 = 28 x1000=
12 X 100 = 2x10=
96 X 10 = 50x1000=
41 x 100 = 30x 1000 =
12 x 10 = 59 x 100 =
74 X 10 = 83 x 100 =
50 X 10 = 85 %10 =
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Multiplication par Puissances de Dix (B) Solutions

Trouvez chaque produit.

77 x1000=77 000 70 X 10 =700

47 x1000=47000 94 X 10 =940

84 x1000=2384000 41 x10=410

82 x 100 =28 200 28 x 1000 =28000
12 x100=1 200 2x10=20

96 X 10 =960 50 x1000=150000
41 x100=4100 30 x1000=30000
12 x10=120 59 x 100 =5900
74 X 10 =740 83 x 100 =8 300
50 x 10 =500 85 x 10 =850
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